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1. K 4% 38 (random experiment)
ARG ERBIEFATTAS
fEAT — SRR T FHE/Z o
eg. @ EAIR - FE R T - A B KT IS o

2. # % (outcome):
A% B e 85 R A2 o
eg. ' EF—ME4AK HE&RAELE - FRERTHELRSE (1.5 -

2



B AR 45 BB 81208k o

3. B £ (3 &) % B (outcome / sample space :
FRR TREe E ZAA R &S - BL Q &Row o
eg.  F—MEARKRNTER A
Q={H,T} -
E—HRTHRAZEA
Q ={1,2,3,4,5,6} -

4. # AR 2 (sample point) :
B—AH LM o L wET o
eg. :H orT-



5. k4% ¥4 (random event) / FE4(event) :
R R 8 F & o (subse) g 2 o A ZERM Q 75

Ao .e. AOQ, A Aevent -

2= A={a} > Ras5—EE % Al A &E—F4(singleton) o

Ex31: Z—RETFHAERA?
Q={12,3,4,5,6
A={13 > B={4,5,6} %% & FE 4 o
C={9 nE—F# -
EHRGIE AL B A FHEE
HZHREERAS 4 B 2 C F4H484 -



Ex32: —B&E ezl A
Q={4# - R o4}

Ex3.3: — A& &3t S a9tk A 2 R
Q ={rr A T s ey #14}
A={F]:E X370} & —1BF#
B={#1:M %70} &£ — 8% —F 4



KEWER

AOB={wlQ|wlA= wlB}
u
Az By B & (union)

An B={wlQ|wlA and w(B}

U
As1Bgy 3L £ (intersection)



3t KK, B (Venn diagram)



3.4
& A B, C AR —HAZM Q 8§3EF4#
1. % & X #4#E (commutative law)
AOB=BOA ; AnB=BnA
2. ¥ R & 44 (associative law
(ADB)OC=A0(BOC)
(AnB)nC=An(BnC)
3. #% R 484 (distributive law )
An(BOC)=(AnB)O(ANnC)
AO(Bn C)=(AOB)n (AOC)



AN(BUC)=(ANnB)u(AnC)




AV(BNC)
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Ex 3.5:(From Ex 3.1)
A={12, B={246, C={234
AOB={124,6=B0
AnB={2=Bn A
BOC ={2,3,4,6}
BnC={24}
AD(BOC)={12 0{2,3,4,6} ={1,2,3,4,6}
={1,2,4,6} [1{2,3,4}
=(AUB)OC
An(BnC)={12 n{2,4 ={2}
(AnB)nC={2 n{234} ={2
OAN(BNnC)=(AnB)nC U#R&ssE

A} R
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An (BOC)={L2 n{2,3,4,6 ={2
(AnB)O(AnC)={2 0{2 ={2
OANn(BOC)=(AnB)O(ANC)

AO(Bn C)={12 0{2,4 ={1,2,4
(AOB)n (AOC)={1,2,4,6} n{1,2,3,4 ={1,2,4}

O0AO(BNC)=(AOB)n (AOC)

LI R B
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% 2 AnB=¢ RI#EA BA 7 E4 (mutually exclusive events).

()

A

B
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% A w44 % (complement) » A° ={c0Q« A

()
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Note:

An A° =¢

OA 2 A B FrE4. B AOAS

()

Q.
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323. 6 : 1 B4R x4 (De Morgan’'s Law)

ATQ,BOQ
(AOB)C = A° n B°
(An B)® = A° O B®
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Note: A=B - AOBand BOA

(=)
% wO(AOB) = wiQ H wiAOB
= «UA & alUB

-  wOA H wdB
= wOA n B

= (ADB)'O0 A nB --—(1)

(@)

BmRwlA°NnB = wIA® B wiB”
—~  wiA H wOB
—  «0O(AOB)°
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—  A°nB°O(AOB)S ---(2)
H(1)&(2)4 (AOB)® = A° 0 BC

Ex3.7: &4 A={12}, B={24,6}, Q={1,234,5,6}.
= A°={3456 B°={135
Al B={124,6}
An B={2
(AOB)" ={35
A° n B ={34,5,6} n{1,35 ={3,5
O0(AOB)" = A" n B°

(An B)° ={1,34,56}
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A° [ B® ={3,4,5,6} 0{135 ={13,4,5,6}
1l (An B)° = A°0B°
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